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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜ ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  
 ( B.D.P. Term End Examination )  

øÎ¬À¸•§¬ı˛, 2017 › Ê≈Ú, 2018 (December-2017 & June-2018) 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective Course ) 
õ∂±Ìœø¬ı√…± ( Zoology ) 
¬Û=˜ ¬ÛS ( 5th Paper )  

Animal Diversity-II (Chordates) : EZO-5             
¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬(Time : 2 hours)  
Û”Ì«̃ ±Ú – 50 (Full Marks : 50)  
˜±ÀÚ¬ı˛ &èQ – 70%  (Weightage of Marks : 70%) 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
Special credit will be given for precise and 
correct answer. Marks will be deducted for 
spelling mistakes, untidiness and illegible 

handwriting. The figures in the margin indicate 
full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡]  Œ¬ı˛¬ÛøÈ¬ø˘˚˛±  Œ|Ìœ¬ı˛  Â√̊ ˛øÈ¬ Î¬◊À~‡À˚±·… ∆¬ıø˙©Ü… 

ø˘‡≈Úº ∆¬ıø˙©Ü… › Î¬◊± √̋√¬ı˛Ì¸˝√√ Î¬◊Mê√ Œ|Ìœ¬ı˛ Ê√œø¬ıÓ¬ 
¬ı·« ¬Û˚«ôL Œ|Ìœø¬ıÚ…±¸ fl¡èÚº 3 + [5 + 2]  

 [‡¡]  ø·øÚø¬ÛÀ·¬ı˛ ù´¸ÚÓ¬ÀLa¬ı˛ ·Í¬Ú ø‰¬ø˝êÓ¬ ø‰¬S¸˝√√ ¬ıÌ«Ú± 
fl¡èÚº ˜Ò…26√√± øfl¡ ∑ [5 + 3] + 2 

 [·¡]  Œ˜è√Gœ ¬õ∂±Ìœ¬ı˛ ’…±›øÈ¬fl¡ ’±À‰«¬¬ı˛ ø¬ı¬ıÓ«¬ÀÚ¬ı˛ 
Sê˜¬Û˚«±˚˛&ø˘ ø‰¬S¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº 7 + 3 

 [‚¡]  ¬ıË…±øÇ›Àà±˜±¬ı˛ ·˘ø¬ıÀ˘¬ı˛ ·Í¬Ú ø‰¬ø˝êÓ¬ ø‰¬S¸˝√√ ¬ıÌ«Ú± 
fl¡èÚº ¤¬ı˛ ‡±√…¢∂̋ √√Ì ¬ÛXøÓ¬ ¸—Àé¬À¬Û ø¬ı¬ı‘Ó¬ fl¡èÚº 

   [5 + 2] + 3 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 
 [fl¡¡]  ¬èø˜Ú…±KI◊ ¬Û±fl¡¶ö˘œ¬ı˛ ·Í¬Ú ø‰¬ø˝êÓ¬ ø‰¬S¸˝√√ ¬ıÌ«Ú± 

fl¡èÚº  4 + 2  
 [‡¡]  ’¸øÈ¬fl¡øÔ¸ƒ  ›  fl¡ÚøEfl¡øÔ¸ƒ  ˜±ÀÂ√¬ı˛ ‰¬±¬ı˛øÈ¬ 

¬ıø˝Õ¬ı«ø˙©Ü… › ≈√øÈ¬ ’ôLÕ¬ı«ø˙À©Ü…¬ı˛ Ó≈¬˘Ú±˜”˘fl¡ ¬Û±Ô«fl¡… 
ø˘‡≈Úº 6 

 [·¡]  ¬Û±˚˛¬ı˛±¬ı˛ Î¬◊¬ı˛(ÀSê¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ø¬ı¬ı‘Ó¬ fl¡èÚº 4 + 2 
 [‚¡]  ø·øÚø¬ÛÀ·¬ı˛ ‰¬À˜«¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ø˘ø¬Û¬ıX fl¡èÚº  
   4 + 2 
 [„√√¡]  ø˙øe, ˜±&¬ı˛ › fl¡˝◊√√ ˜±ÀÂ√¬ı˛ ’øÓ¬ø¬ı˛Mê√ ù´±¸˚La ¸•§Àg 

¸—øé¬5 È¬œfl¡± ø˘‡≈Úº 2 × 3  
 [‰¬¡]  Œ¸KC±À˜¬ı˛  øˆ¬øM√√ÀÓ¬ fl¡À˙èfl¡±¬ı˛ õ∂fl¡±¬ı˛Àˆ¬√ 

Î¬◊± √̋√¬ı˛Ì¸˝√√ ’±À˘±‰¬Ú± fl¡èÚº 6  
3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 
 [fl¡] ’…±ø¸øÎ¬˚˛±¬ı˛ Ê√œ¬ıÚ ˝◊√√øÓ¬˝√√±À¸ é¬˚˛ ”̃̆ fl¡ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ 

ø˘ø¬Û¬ıX fl¡èÚº 3 
 [‡] Œõ∂±ÀÈ¬±Àà±ø˜˚˛± › øÎ¬Î¬◊ÀÈ¬À¬ı˛±Àà±ø˜˚˛± øfl¡ ∑ Î¬◊± √̋√¬ı˛Ì 

ø√Úº 1
  

! 

1

2
 + 1

  

! 

1

2
 

 [·] Î¬±¬ı˛˜±ÀÈ¬±ÀSêøÚ˚˛±˜ øfl¡ ∑ Î¬◊√± √̋√¬ı˛Ì ø√Úº 3 
 [‚] ¬ı…±À„√√¬ı˛ ù´¸Ú ¬ÛXøÓ¬&ø˘¬ı˛ Ú±˜ ø˘‡≈Úº ¬ı…±„√√±ø‰¬ Œfl¡±Úƒ 

’Àe¬ı˛ ¸±˝√√±À˚… ù´±¸fl¡±˚« ¸•Ûiß fl¡À¬ı˛ ∑ 2 + 1  

 [„√√¡√√] ◊̋√√Î¬◊À¬ı˛±à±˝◊√√̆  › ’ø'ø¬ÛÈ¬±˘ fl¡`¬±˝◊√√̆  øfl¡ ∑ 1
  

! 

1

2
 + 1

  

! 

1

2
  

 [‰¬¬] fl¡Î¬±«È¬± õ∂±Ìœ¬ı˛ Î¬◊»¬ÛøM√√ õ∂¸Àe ·±à±«—-¤¬ı˛ ˜Ó¬¬ı±√ 
’±À˘±‰¬Ú± fl¡èÚº 3 

 [Â√¬¬] ˜±Ú≈À¯∏¬ı˛ Ê√ij¶ö±Ú ¸•Ûøfl«¡Ó¬ ˜Ó¬¬ı±√ ≈√øÈ¬ ’±À˘±‰¬Ú± 

fl¡èÚº  1
  

! 

1

2
 + 1

  

! 

1

2
  

 [Ê√] ¶Û±˝◊√√Ú±˘ ¶ß±˚≈̨ ¸•ÛÀfl«¡ ¸—øé¬5 È¬œfl¡± ø˘‡≈Úº 3   
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( English Version ) 

1. Answer two questions : 10 × 2 = 20 

 a) Write down six salient features of class 
Reptilia. Classify the class up to living 
orders with characters and examples. 

   3 + ( 5 + 2 )  

 b) Describe the respiratory system of 
Guinea pig with labelled diagram. 
What is diaphragm ? ( 5 + 3 ) + 2 

 c) Enumerate the gradual changes in the 
evolution of Aortic arch of vertebrates 
with labelled diagram. 7 + 3   

 d) Describe with labelled diagram the 
structure of pharynx of Branchiostoma. 
State its feeding mechanism in brief. 

   ( 5 + 2 ) + 3  

2. Answer three questions : 6 × 3 = 18 

 a) Describe the structure of a ruminant 

stomach with labelled diagram. 4 + 2 

 b) Compare    osteichthyes    and 
chondrichthyes on four external and 

two internal characters. 6 

 c) Discuss pectoral girdle of Pigeon with 

diagram. 4 + 2  

 d) Enumerate the structure of skin of 
Guinea pig with diagram. 4 + 2 

 e) Add a short note on the accessory 
respiratory organs of Singi, Magur and 
Koi fishes. 2 × 3 

 f) Narrate different types of vertebrae on 
the basis of centrum with example. 6  

3. Answer four questions : 3 × 4 = 12 
 a) State the retrogressive changes in the 

life history of Ascidia. 3 
 b) What do you mean by Protostomia and 

Deuterostomia ? Give example. 1
2

1  + 1
2

1    

 c) What is dermatocranium ? Give 
examples. 3    

 d) Write down the names of respiratory 
mechanisms of toad. Which organ is 
used in respiration by tadpole larva ? 

   2 + 1  
 e) What are urostyle and occipital  

condyle ? 1
2

1  + 1
2

1   

 f) Narrate Garstang's theory in respect of 
origin of chordate. 3   

 g) State in brief the two theories 
regarding the place of origin of Man.  

   1
2

1  + 1
2

1   

 h) Add a brief note on spinal nerve. 3   
    


